SUMMER MATH PACKET FOR STUDENTS RISING TO ALGEBRA 2

Provided by COX MATH TUTORING

Directions: Complete the following problems without the use of a calculator, unless the problem

is accompanied by a calculator icon: ’ % w

1.

Evaluate each expression.

1-4+—-6+-1 = 7}
1M, —

12. 5—(=5 +|-8x9 = I

13, X2 =

7X2—5

5x2 -
14, —2-3+ = 3

Find each product.

e
21. (-295)(3) " 2o
22 () =
Find each quotient.
= -2
3. = = =
L .
3.2. = 165

1.5.

1.7.

1.8.

2.4.

3.3.

3.4.

'03 - | E\'_?—
+- (547 = S6
- 5]
-(3) =
- 3
2-5 = ‘
-114+3 = ’:-._6; or —|ig



4. Solve each equation.

41. 61 = —9 — 5n 46. —7(7x +7) = — 392
n= -4 )
X=F
4.2. _4=% 47. 5x +8= —8+«x
P = -5 =-h%
43 oL _ 17 48. b+1=3+2b+7—4b
e 36 4 4!
-0 v =32
T
49. 36+ 7n = —2(7n—-1) + 4n
5 49
44. — 2<x + ?) = -0 ;
s 2 ne
B
410. —Bx—-4)= —24-7x
45. —108= —3(4v + 4) ==
V=93
5. Solve each inequality.
m b—2
5.1. 1>2+T 5.2. TSl
M« -6 b ¢ 2Y

6. Find the slope of the line through each pair of points.

6.1. (3,— 12), (18,— 12) 6.2. (- 14,19), (- 19,— 18)
_ == (™ « o Mth_(—l%) . 37

Mm - Q-3 \ =0
R CT S



7.

10.

1.

Write the slope-intercept form of the equation of the line through the given
point with the given slope.

7.1.  through (— 1, 2), slope = - 3 7.2. through (— 1,— 5), slope =8
‘j=-3><~\ %: QX+ 3

Write the slope-intercept form of the equation of the line through the given
points.

81. (—-1,-5),@3,—-1 82. (0,—-5), # -1
‘:) =YX~ LI, U = )( - 5
Write the slope-intercept form of the equation of the line described.
9.1. through (— 1,4), paralleltoy = — 7x — 3
tj = ~7IX+3

9.2. through (— 1,1), perpendiculartoy = x + 4

4= =X

Sketch the graph of each line.

101, y==rx+1 10.2. y =4x — 3

N 7

Simplify. Your answer should contain only positive exponents.

111, 4u v 30 11.2.  4a’b° -

. " a
AN b
w o

4



2%y
43 2 3= _.m-———— ?,xy4 - a
11.3 (m) mn - 2 11.5. W

N
11.4 (Zmn )2-m4n3 = L—’-mbnﬁ

12.  Simplify each expression. 2 QA
121, (4n° —4n’ —5n) + (6n° + 5n° — 7Tn) = O\V\ + g\ﬁ - \D.V)

3 2
122, (8- 85 —4x) — Gx + 8 + 220 = - x4 Gbx - Ix

13. Find each product.

131. (= 7a+ 8)(—4a + 1) 13.3. (a + 7)(— 3a —5)
2%a - 3%a + B _ 32— Qba - 35S
13.2. (4n — 6)(3n + 4) 134. (Bv - 2)(3v + 2)

2
IQ\“Z-?"-Q‘* 9v “""
14. Factor the common factor out of each expression.

140 o'+ 10’ -3 -l = ¢ (Of +10X- ?3)(2* qﬂ? )

142,  — 24k° — 40k - -Qk (3K2+ §>

15.  Factor each completely.

15.1.  6x° + 66x + 144 15.3. 4y + 10y + 4
Co(x*+ x + 24) 2(2y% + Sy + 2)
(p(’("’"zlﬂ(?(i-%) 2 (29 +)(Qy+ 2)
15.2. x —4x — 21 154. 2n —9n + 10
(x=)(x+3) @2n+ D -5)
155.  30r + 36r° + 25r + 30 15.6. 21x° — 49x° + 12x — 28

(wo®+362) 1 (250t 30) (21 x3-yaxl) + (12¢-2%)
(5r+b\((or?'—‘r ) (—7)(7_* LP) (3,4_7)



16.  Simplify.

16.1.  7+/18 27“]'2 16.5. % — -1 g
— SN3
= N2 >
16.2. — 7+/180 = -Q’Lg 2

163. 4oz = 12 {7

16.4. — 20/180x° = «-\2[%\45

17. Find the distance between each pair of points.
171. @3, —3), (=7, —3) 17.2. (= 1,6), (7, 1)

\‘(3+1\’-+(-3+ W =10

{(-1=")2+ (-
= ’\IG“/”?(
NESE

18. Find the midpoint of the line segment with the given endpoints.

18.1. (6,— 3), (10, — 3) 182. (-=5,8),(—=7,9)
-3) L
(%} ( (9) 2
19. Solve each system by substitution.
191. —-3x+y= -7 19.2. —8x +4y= -—16
5 —y =9 x+3y =9

(1,4) (18313%)



20. Solve each system by elimination.
20.1. 9x — 3y =21

20.2. x + 8y =23 -1 )
—9x + 4y = - 28 (o)-—?) _ ( )3

21.  Simplify each expression.

21.1 o423 212, & = 2
i E _— = = — e m—23 W\_'S
: Xt G m Vs
_ 3Im
— vm’ 3
22. Find the value of the trig function indicated.
221.  cos® SoM- CAH-Top
_ ol o 3
12]7 CosO = 20 5
22.2 sin® 2. 92 LunZ
; e+ 7= hyp ]
b -
Si = — - =
. O = z
23. Solve each triangle. Round to the nearest tenth.
23.1 23.2
[o]
N p y "o«ﬂA = 3.6
\ " ﬁ.)
C 136 H stan (G'b
: o_ AC_ %’-A =9/’ A =36.3°
Sw (')c\ - % m B
Q -sinbf =HC BC- (o PR = [6-9
7.5 = AC



